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10 30 12 64
1

ppm 0.010 0.002 0.000

ppm 0.072 0.026 0.004

ppm 0.123 0.026 0.000

ppm 1.8 0.6 0.2

(ppm) 0.078 0.032 2 0.003

(mg/m®) 0.118 0.034 0.000

(ppmC) 0.46 0.30 3 0.17
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1
ppm 0.004 0.000 0.000 o 0.000 0.000
ppm 0.007 0.002 0.000 o 0.002 0.003
ppm 0.003 0.000 0.000 0.000 0.001
ppm 0.5 0.2 0.1 o - -
(ppm) 0.097 0.039 2 0.001 ° 0.039 0.034
(mg/m*) 0.127 0.025 0.000 o 0.024 0.026
(ppmC) 0.19 0.18 3 0.11 - -
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1 1
ppm 0.007 0.000 0.000 0.000 0.001
ppm 0.025 0.004 0.000 0.003 0.005
ppm 0.026 0.002 0.000 0.001 0.003
ppm 1.0 0.3 0.1 - -
(ppm) 0.076 0.038 2 0.010 0.033 0.028
(mg/m?) 0.114 0.017 0.000 0.014 0.017
(ppmC) 0.56 0.16 3 0.04 - -
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